®7-228 @ -9 ® o- 4715

@ - 8471F O n-A2E






jins
™

1

O YAlEFAA 2e

= T
- L
O~ 17" "~"7"77 TTUA
H
O H1mBeL @ HuLrBeAC
@ H=z=ou ® WouiAo



o §g 7

el

o
=

=

4.

32 +48

2
22
©3

1 1
z 2=
2 @ 3

®1

e



O =272 71=FIY Y @ 49 7olgta ¢5Ytth
® 7ol "igt 4 9] v]d Yt @ 79 4] izt v YUYt
® 4979 H]JYrt.










8.

ohg 9] 2he THA L.

1
2-:1.2
2

1 1 12
© 25 @ 1= ® %= @ —

12 12




— |
ki
[}
I~
©

A [ D=1 | b=
I Il
[\l D~
~ 0
Q@ ©
I Il
[a\] [}
— ..
.. N
10 —
Q@ ©



el
™
™
Wi
Xjo
,mo
T
ojn

o 4

_(1)':_1

(

)
®

HE2]2)x3.14 4Ytt.

(

)

=
s

=l



252 dol9] of 3.14 HiJU Tt

Z_IT_
T

o

@

o] ZAojo] of 3.14 #j Yt

Fo] g9yt

=

5

A 52l dofof o



m ¢ ¥ WS FY47E YUk o] 2YHE 5 v

1
252 v, 27 A AL D m YU

® 1Im @ 5m @ 7.85m

@ 15.7m ® 31.4m



13.

BAULR G Ao B0} 1end B &

SRR

@ 45cm?

@ 57cm3

@ 48cm? ® 52cm?®

® 60cm?



14. o= JAEF e FuE 7oA 2.

N
: Zem

7 7
7 1
// 1

s 7cm

ocm”
@ 24cm? @ 25cm? @ 28cm?



@ A5



7}

k]
12

g Bohgley 2

o] 742

o

A
e
Ile]
~d

bt

HAEU Br=A A

@ 4 0
® 37 @ 4 @42

D1



17.

30

51‘017]'7m

20] H

- 1

° z
= &

ol

g gLsﬂ QI E 7} B @ sheta

e,

Wol7h 14m? ¢l & dsh= o 2 Lo FJIEZL BastAsu7r?

2
3—L
@ 21

11
3—-L
© 23

1
3—L
@ 26



18. g EAE7F6emd] FSHUAE EHO hZHS whah Wof 2] o]
A ZEbA 2 719 AP HEASFUH T dAEF ] R
2 cm?® YU71?

O 92cm? @ 96 cm? @ 100 cm?

@ 106 cm? ® 108 cm?



19. ohg 19T e 2 AR & mAE} 50em ) AEHA Bkl
do e R PR

©
kel
et
9
&
)

P

]

@ 407K @ 4274 ® 4474 @ 4674 ® 4874



